


M8�X�75�bolt   (8) M5�X�15�bolt   (22)

adjustable foot(4)adjustable foot(4)

wooden top  (1)

beam(2)

left leg(1)
right leg(1)

1000 lbs.



STEP 1

HARDWARE REQUIRED:M8 X 75 BOLT (8)/ M8 NUT (8)

STEP 2

HARDWARE REQUIRED:M5 x 15 BOLT (22)

STEP 3


	页 1
	页 2
	页 3

